
Monday 1st February 2021 

L.O: I am getting better at counting forwards and backwards in 10 from any 

number. 

 

Today in maths we are going to be counting forwards and backwards in 10 from 

any number.  This is called skip counting. 

Using a number square might help you to do this. 

If you look at the last digit of the number (the one) then you know the answer 

will end in the same number and the first digit (the ten) will be the one that 

changes. 

 

For example: 

 

42 + 10 = ___ 

You start at 42 on the number square and 

count forward in tens.  

Have you noticed a pattern? 

 

36 – 10 = ___ 

You start at 36 on the number square and 

count backwards in tens. 

Have you noticed a pattern? 

 

There are some questions for you to answer, please use a number square if it 

helps you to answer the questions. 

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

56 + 10 = 

44 – 10 =  

12 + 10 = 

77 + 10 = 

22 + 10 = 

72 – 10 = 

99 + 10 = 

8 + 10 = 

66 – 10 = 

12 – 10 = 

1 + 10 = 

 

Can you tell me what is 10 

more or 10 less? 

£  £20  £30 

£  £75  £ 

£54  £64  £ 

£  £100  £ 

£  £89  £ 

£  £12  £ 

Can you solve these 

questions? 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

There are 10 sweets 

in a packet. 

I have bought 17 

packets. 

How many sweets do I 

have? 

Owen had a birthday 

party and invited 10 

friends. 

He wants to put 2 

balloons in a bag. 

How many balloons 

does he need? 

Amy spends 70p on 

10 apples. 

How much does each 

apple cost? 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


